20131029 v3

| 1“:—?9')

hBEEEREERCEM
(KEE R 5229)

1) R ERLMEG RS X A EEN
a2 (m,\521o{ﬁ)

RATHR, .

9%

i
7%
fi
8%
A EEEL B
4%
2) fRE-1H +35EI'ZWEEI’]%5§§%%
%ﬁ@%}\“ D%E@ﬁ
(& 31L:5195)
e wfAEE 0 ARE o GAEA
3%

3%




20131029 v3

3) + A+ H A e E A A
GiR o RS REREESS B 7
= 1£52184%7)

RARR  E

\ ARIE 7% ;
MOTEH oo 6 3%

2%




20131029 v3

4) PR B s B B 2 i ED H 2EK
SEIE 9 (&r3£52204)

JE R MR

1% R
RERA 5%

4) fRAEIRR R B S RYET HBEK

0 Mean Ci#53=T)

T IEE R

6 s

5 BhorimE

4 BESRwE 3.74
3 A
2 JEERNIE
1 #FER




20131029 v3

5) PRI SE &R LB A o & R FIRH
AIRETH 2 (H[3EEZIH)

Hth 225
&R
TR
RESR
RERE
Bk EERGE
Y=gl
SO
&R
B

B8

3272

3293

6) ¥t B X EIFIEN S » (R nEEHE
LRt LU N E—RRBI SR ¢ (amsE)

At 195
HAHSESG Iy 2650
/NS R 2381
RS
I
kS
e
Hexd
BRI

3055




20131029 v3

7) PR Kl A 2

H3516717)
R g
2% 2% B

3
28%
7 1RBESREEEE % Mean (Fi53=6)
6
5
1 B
3 JEE 4.43
)
| R




